
Spiel 1 Spiel 2 Gesamt

Spiel 048 19:26 D 1 HINTERSTEINER Gerhard 50 + 49 = 99

D 2 RUMETSHOFER Martin 51 + 60 = 111 # #

Spiel 049 19:34 D 3 STADLER Mathias 50 + 51 = 101 #

D 4 STRONDL Karlheinz 51 + 58 = 109 # O

Spiel 051 19:50 D 5 GÜNTHER Reinhard 62 + 59 = 121 O #

D 1 HINTERSTEINER Gerhard 56 + 55 = 111 # # #

Spiel 053 20:06 D 2 RUMETSHOFER Martin 52 + 62 = 114 O # #

D 3 STADLER Mathias 39 + 65 = 104 # #

Spiel 055 20:24 D 4 STRONDL Karlheinz 47 + 45 = 92

D 5 GÜNTHER Reinhard 58 + 53 = 111

Spiel 057 20:40 D 1 HINTERSTEINER Gerhard 53 + 59 = 112 O # #

D 3 STADLER Mathias 64 + 50 = 114 O O # #

Spiel 059 20:55 D 2 RUMETSHOFER Martin 56 + 50 = 106

D 4 STRONDL Karlheinz 54 + 53 = 107 # #

Spiel 061 21:15 D 3 STADLER Mathias 50 + 42 = 92

D 5 GÜNTHER Reinhard 54 + 67 = 121 O #

Spiel 063 21:31 D 4 STRONDL Karlheinz 50 + 58 = 108 O

D 1 HINTERSTEINER Gerhard 56 + 59 = 115 #

Spiel 065 21:49 D 5 GÜNTHER Reinhard 58 + 61 = 119 O #

D 2 RUMETSHOFER Martin 57 + 54 = 111


